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Addition - 2 

1. Add the following  

a)        b) 

 

 

 

 

 

 

c)       d) 

   

 

 

 

 

 

 

e)       f)  

 

 

 

 

 

 

 

 

 

 Th H T O 
     

 2 3 5 8 

   + 4 1 8 7 

     

 Th H T O 
     

 6 9 7 8 

+ 2 3 5 6 

     

 Th H T O 
     

  9 8 4 

 5 7 6 8 

+ 
  2 3 

     

 Th H T O 
     

 4 5 1 8 

  7 8 2 

+ 
2 6 2 5 

     

 T-th Th H T O 

      

 5 7 2 5 9 

  1 9 7 3 1 

+ 
2 3 4 6 5 

      

 T-th Th H T O 

      

 3 4 7 0 8 

  2 6 8 9 2 

+ 
1 3 4 8 2 
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2. Find the sum 

a) 5739 + 1875 b) 4806 + 2895 c) 5898 + 2565 + 6487      

d) 27879 + 4568 + 24902 e) 9 + 99 + 999 + 9999 

 

3. Arrange in ascending order and add 

a) 23341, 36256 and 27215  

b) 33315, 565, 27225 and 6255 

c) 4505, 66991, 35614 and 4575 

 

4. Add the following 

a) Two thousand seven hundred and three; Four hundred and fifty nine; Thirty four thousand 

six hundred and sixty two. 

b) Two thousand four hundred and twenty six, Sixty seven thousand six hundred and forty two; 

Seventeen thousand fifty five. 

c) Fifteen thousand and twenty five; Twenty six thousand five hundred and seven; Twenty 

thousand and six.  

 

5. Insert number between 1 and 10 in the blanks to make the following sentence true. 

a) 1475 + _________ + _________ = 1488   

    1475 + _________ + _________ = 1488 

    1475 + _________ + _________ = 1488 

    1475 + _________ + _________ = 1488 

    1475 + _________ + _________ = 1488  

b) 4394 + _________ + _________ = 4408 

    4394 + _________ + _________ = 4408 

    4394 + _________ + _________ = 4408 

    4394 + _________ + _________ = 4408 

    4394 + _________ + _________ = 4408 
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6. What numbers do the alphabets represent in the following? 

a) 2765 + A = 2772  A = ____________ 

b) 1443 + B = 1450   B = ____________  

c) 8383 + C = 8391  C = ____________ 

d) 10005 + D = 10011  D = ____________   

e) 21637 + E = 21642  E = ____________ 

 

7. 4372 + 5219 is nearer to ___________ 

a)  95000   b) 10000 

c)  80000   d) None of these 

 

8. In the sum of 1969, 2505 and 1397 how many thousands are there? 

a)  8   b) 5 

C)  7   D) None of these 

 

9. Find the missing number in the following addition? 

 1 2 9 6 

       + 2 9 3 5____ 

______4_____2 __________1_____ 

a) 3   b) 6 

c) 8   d) None of these 

 

10. What number should be placed at the position of ? to make the number sentence true? 

  1720 > 1690 + ? 

a) 40   b) 10 

c) 90   d) None of these 
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11. What number should be added to 9999 to give the smallest five digit number? 

a)  1   b) 2 

c) 3   d) None of these 

 

12. 1927 + 2738 has which number at hundred digit? 

a) 7   b) 6 

c) 8   d)  None of these 

 

13. What number should be subtracted from smallest four digit number to give largest three 

digit number? 

a) 5   b) 10 

c) 1   d) None of these 

 

14. Number of 10000’s, 1000’s, 100’s, 10’s and 1’s should be added to give largest 5 digit 

number are ________________ 

a) 9, 9, 9, 9, 9  b) 9, 1, 0, 1, 0 

c) 9, 9, 0, 1, 0  d) None of these 

 

15. Which number is 8 more than 1024? 

a) 1022   b) 1032 

c) 1122   d) 1132 

 

 

   

  


